4:(n) (3 pts) For N =7 (eluster size is 7) with P(Blocking) = 0.01 and average call length of two minutes, find the taffic capacity
loss due to trunking of 42 channels/cell (294 voice channels in total) when going from omni directional antennas to 60° sectored

antenrias, Assume that blocked calls are cleared and average call rate per user is 1 call per hour. Also assume that the user
population is uniformly distributed.

(b) (2 pts) Is there any mcrease in total number of users/clusier, duc to using the same frequency in other cells in the cluster
after sectoring? What are the total number of usersicluster hefore and after using sectored antennas?
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